el [GeV]]

=
o
N

r
T

(1/Njet)dN/dp

Ratio to ATLAS

=
o

=

107t

1072

1073

1N~4

0.5

7000 GeV pp

E

S
i

B ATLAS
--4-- Herwig 7.2.1 default
----- ¢ Sherpa 1.3.1 default

i.\
RN

Relative P, (track jets)

Soft QCD
I T | T =

Rivet 3.1.10, = 400k events

e
| |1 IIIII|

R4
- /
pan
."‘ 4
o 7/
] |
7

b g
K ’,
o e
< [T H
. ,
. ,
K ’
SUON |
’
’,

B
4
4

|

I IIIIIII|

I III|IIII|IIII_L|_ | ||||||||

||||||||||||||'ﬂl

[
1
]
4
|

Charged Particle |6Tel [GeV]

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


